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Q.1 In a certain code language, ‘MILK' is called as ‘PURE’, ‘PUREFE’ is called as ‘BLOOD’, ‘BLOOD’
is called as ‘RED’, ‘RED’ is called as ‘BIRD’, ‘BIRD’ is called as ‘DRY’. Which colour is used to
show danger?

Ans X" 1 BLOOD

75 2. MILK
75 3.RED
o 4.BIRD

Question ID : 5459276878 ]

Q.2 In the following question, select the related word from the given alternatives.

Five : Pentagon :: Three : ?
Ans X" 1. Rectangle

\f" 2. Square

K 3. Rhombus

x 4. Triangle

Question ID : 5459276876 ]

Q.3 In the following question, four number pairs are given. The number on left side of (-) is
related to the number of the right side of (=) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans X" 12517 - 425
75 2.3226 - 832
/X 3.2114 - 294

of 44619 - 854

Question ID : 5459276888 ]

Q.4 In the following question, select the odd letter/letters from the given alternatives.
Ans X" 1 FHJ




W 2. 0Pr
/< 3.BDF
/5 4.ACE

Question ID : 5459276873

Q.5 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

UV5, X210, AD17, ?, GL37
Ans X" 1.DI26

/X 2.0127
75 3.DH27
o 4. DH26

Question ID : 5459276870

Q.6 A series is given with one term wrong. Select that wrong term from the given alternatives.

F4, H9, J15, L25, N36

Ans X" 1 F4
K 2,125
o 3015
/X 4.N36

Question ID : 5459276871

Q.7 Ateam of five persons is to be selected from amongst five girls A, B, C, D and E and four
boys P, Q, R and S. Some criteria for selection are: E and P have to be together. S and Q
cannot be together. B and R cannot be together. C and A have to be together. Q and D cannot

be together. If Q is one of the selected members, then who can be the other members of the
team?

Ans X" 1.PS,CA
X 2.RS,CA
/X 3.SRD,C
o 4ERBR

Question ID : 5459276883

Q.8 Riya is younger than Ram. Kishan is younger than Ram but elder than Riya. Sandhya is elder

than Sheetal and Ram both. Ram is younger than Sheetal. Among these five, who is the third
youngest?

Ans 1 Riya
o 2. Ram
x 3. Sheetal
75 4. Kishan

Question ID : 5459276881

Q.9 In the following question, select the odd word pair from the given alternatives.
Ans X" 1. Cup: Crockery




J 2. Stationery : Pen
X 3. Lizard : Reptile
x 4. Ostrich : Bird

Question ID : 5459276874

Q.10 A, B, C, D and E are five members of a family. In this family there is a doctor, a teacher, a
professor, a inspector and a businessman. A is the son of a professor. D is an unmarried
lady. In the family there is a married couple in which B is the husband. E is the brother of C
and he is neither a teacher nor a businessman. Son of the married couple is not the teacher.
There is no lady doctor in the family. The teacher is not married. Who is the teacher?

Ans x1_3
o 2.0
K 3A
X ac

Question ID : 5459276885

Q.11 In the following question, select the related letter pair from the given alternatives.

GHLP : IKPU :: ?
Ans  of 1 CGKO:EJOT

75 2. FGHI: HIMN
75 3.PSTW: WYZA

75 4. ACDH : CFOR

Question ID : 5459276877

Q.12 wie & Qe Afgen Y oiiR Hehel T §T, Sherd 3 gt foh “ag A ATaT & gehedta g & fOar &t
B T8 6l Wil 81" wiet d St =afh & ST hard & 1Y T e 87

Ans X1 e
o 2 3o
/X 398
X 4=t

Question ID : 5459276884

Q.13 In the following question, select the related word pair from the given alternatives.
Young: Old :: ?
Ans i 1. Junior : Senior
X 2. Black : Colour
x 3. Work : Joule

X 4. Work : Hard

Question ID : 5459276875

Q.14 A, B, C, D, E, F and G are seven coaches. Each one among them is a coach of a different
game. The games are Hockey, Cricket, Badminton, Tennis, Volleyball, Basketball and
Football (not necessarily in the same order). Each of them trains on one of the seven days
of the week from Monday to Sunday (not necessarily in the same order). No two coaches
train on the same day of a week. C trains Badminton on Friday. B teaches Volleyball on the




previous day of the day on which a coach trains Hockey. G trains on Sunday but does not
train Cricket or Tennis. D trains Basketball on the previous day of the day on which F trains.
A trains Football on Tuesday. E does not train Tennis. On which day does F train?

Ans X" 1. Wednesday

X 2. Friday
x 3. Monday
« 4. Thursday

Question ID : 5459276882

Q.15 Arrange the given words in the sequence in which they occur in the dictionary.

1. Quarantine
2. Quadrangle
3. Quantifier
4. Quadruple
5. Quadriceps

Ans & 151234
75 2.25413
/X 3.52134
of 4 25431

Question ID : 5459276869

Q.16 In a certain code language, ‘BULB' is written as ‘190’, ‘CALM' is written as ‘150’. What is the
code for ‘DOES’ in that code language?

Ans X" 1180
o 2.220
/X 3.210
X 4.160

Question ID : 5459276879

Q.17 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. Some chairs are pens.
1. Some pens are cups.
11l. All cups are tables.

Conclusions:
|. Some tables are chairs.

1. Some cups are pens.
1Il. All tables are pens.

Ans « 1. Only conclusion Il follow
x 2. Only conclusion | follow
X 3. Neither conclusion follow

x 4. Only conclusion Ill follow

Question ID : 5459276887

Q.18 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be




at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. All books are tables.
I1. All chairs are books.
Conclusions:

|. Some tables are books.
11. All books are chairs.

Ans x 1. Only conclusion Il follow
J 2. Only conclusion | follow
x 3. Both conclusion I and Il follow

x 4. Neither conclusion follow

Question ID : 5459276886

Q.19 In the following question, select the odd word from the given alternatives.

Ans X 1. Fox
/5 2. Lion
X 3. Tiger
o 4 Eagle

Question ID : 5459276872

Q.20 In a certain code language, ‘ENSOUL is written as ‘IJWKYH'. What is the code for ‘'CHEWED’
in that code language?

Ans X" 1. GDHSHZ
/< 2.6CDscz
/< 3.6DCscz

o 4. cDisiz

Question ID : 5459276880

Section : Mental Ability2

Q.1 In the following question, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

12 13 16
[11]155] 8| [9[233]12] [12] 7 [15]
14 17 20

Ans X" 1397

o 2287
/X 3.256
/< 4.307

Question ID : 5459276892

Q.2 In the following question, select the missing number from the given series.




2, 6, 30, 60, 130, ?

Ans  of 1 210
/X 2.260
/< 3.384
X 4.216

Question ID : 5459276896

Q.3 In the following question, four number pairs are given. The number on left side of (=) is
related to the number of the right side of (=) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans X" 1.256 - 60

o 2.321-23
/X 3.137 - 21

/X 4.472-56

Question ID : 5459276889

Q.4 In the following question, select the missing number from the given series.

2,8, 14, 20, 26, ?

Ans  of 1 32
/X 2.30
75 342
/X 4.36

Question ID : 5459276897

Q.5 Two figures given on the left side of (::) are related with some logic/rule/relation. Select the
missing figure on the right of (::) from the given alternatives based on the same
logic/rule/relation.

| |G 2|@] : | -

Ko

Ans

X2

©@||@]||®| @

Question ID : 5459276904

Q.6 Identify the diagram that best represents the relationship among the given classes.




Ans

Sun, Moon, Earth

i ele

X2

~< 3

X 4

®)®|©|o

Question ID : 5459276898

Q.7 In the following question, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

Ans

12 | 8 | 15 | 21
13| 9 | 16 | 22
14 | 10 | 17 | 23
117) 45 | 2 | 396
X 1.252
< 2.162
W 3192
75 4.178

Question ID : 5459276893

Q.8 By folding the given paper, which of the following cube cannot be made?

Ans

O

X2




>
55

Question ID : 5459276908

Q.9 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

Question ID : 5459276907

Q.10 Rohan walks 10 km towards north from a point A. Then he turns right and walks 6 km. Then,
he again turns right and walks 10 km. In which direction is he now from the starting point?

Ans X 1. North

x 2. North — east

J 3. East

X 4. South - east

Question ID : 5459276900

Q.11 Tejas walked 10 metre towards north. Then, he turned left and walked 10 metre. He turned
right and walked 6 metre. At last he turned right and walked 10 metre. How far and in which
direction is he now from his starting point?

Ans X" 1.26 metre, North
“ 2. 16 metre, North
X 3. 20 metre, North

x 4. 16 metre, South




l

Question ID : 5459276901

Q.12 In the following question, select the related number from the given alternatives.

298:149::473:?

Ans X" 1132
/< 2.86
o 374
/< 468

Question ID : 5459276891

Q.13 In the following question, select the related number from the given alternatives.

28:784::56:7?
Ans  of 1 3136

X 2.4242
/X 3.3436
/X 4.299

Question ID : 5459276890

Q.14 In the following question, select the odd figure from the given alternatives.

v 4

Ans

X 2

Question ID : 5459276902

Q.15 Which answer figure will complete the pattern in the question figure?

X

Ans

A
£




7

EY

Question ID : 5459276906

Q.16 In the given figure, how many teachers are neither married nor conservative?

Gonsgrvatiue

Teachers

Married

Ans X717
K 212
W 310
725 4.1

Question ID : 5459276899

Q.17 In the following question, select the missing number from the given series.

1,2,6,24,120,?
Ans X 1240

/< 2.360
/X 3.680
o 4720

Question ID : 5459276895

Q.18 A piece of paper is folded and punched as shown below in the question figures. From the
given answer figures, indicate how it will appear when opened?

sassansy

(A —— [ ———

Ans

F

0O 00 O




[+] o
Jz o 60 O
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x4 O o6 O
1o ano ©

o ]

Question ID : 5459276905

Q.19 If ‘W’ means ‘=, X’ means ‘%', 'Y’ means ‘+' and ‘Z’' means ‘-’,then2Y 448 W 112X 4X2Y 8
Z15=7?

Ans  of 1 07
X 2.37
/X 3.36
X 4.25

Question ID : 5459276894

Q.20 In the following question, select the wrong figure from the given series.

D EE
D
@

Ans

K=
J4. Ea
X

Question ID : 5459276903

Section : General Awareness1

Q.1 Which of the following does NOT affect soil formation?
Ans X" 1 Climate

x 2. Parent Material




J 3. Landslides

X 4. Topography

Question ID : 5459276926

Q.2 Outer membrane of Mitochondria is

Ans

75 1. deeply folded
#< 2. folded
“ 3. porous

x 4. non-porous

Question ID : 5459276923

Q.3 In which of the following state the Kamakhya temple is situated?

Ans

J 1. Assam

x 2. Madhya Pradesh

X 3. Uttar Pradesh

x 4. Manipur

Question ID : 5459276910

Q4

Ans

Which of the following statement(s) is/are true about suspension?

(1) Particles do not scatter beam of light passing through it.
(1) It's a heterogeneous mixture.

(1) It's a homogenous mixture.

(IV) Particles can be seen by naked eye.

75 1.0nly i
o 2 lland Iv
/X 3.1andll
75 4.0nlyll

Question ID : 5459276917

Q.5 What is the full form of NPA in context of Banking System?

Ans

x 1. National Productivity Authority
x 2. National Productivity Association
X 3. Non-Paying Assets

“ 4. Non-Performing Assets

Question ID : 5459276914

Q.6 Which of the following river does NOT flow into the Bay of Bengal?

Ans

x 1. Krishna

x 2. Mahanadi

x 3. Brahmaputra

“ 4. Tapi

Question ID : 5459276924




Q.7 The purpose of having standard units is

Ans x 1. measurement of small quantities
x 2. measurement of large quantities
x 3. easier measurements

( 4. uniformity in measurements

Question ID : 5459276919

Q.8 Which of the following is an agricultural bank?
Ans X" 1 SIDBI

x 2. Reserve Bank of India
o 3. NABARD

x 4. State Bank of India

Question ID : 5459276915

Q.9 Which of the following parts of a flower forms part of stamen?
Ans X 1 style

J 2. Anther
x 3. Stigma
x 4. Sepal

Question ID : 5459276922

Q.10 Which of the following is NOT a component of Government Budget?
Ans f 1. Gender Budget

x 2. Capital Expenditure
x 3. Revenue Expenditure

x 4. Capital Receipts

Question ID : 5459276913

Q.11 Which of the following state - folk dance pair is NOT correct?
Ans x 1. Gujarat - Dandiya Raas

( 2. Rajasthan - Jhumar
X 3. Punjab - Bhangra

x 4. Maharashtra - Lavani

Question ID : 5459276909

Q.12 terminal of a cell must be joined with the terminal of another cell to form a
battery.

I. Negative ,positive

1. Negative , Negative

I1l. Positive , Positive

Ans X1 1and Ill




W2
p N
X 4.01and

Question ID : 5459276920

Q.13 At puberty testosterone in human beings is released by .
Ans  of 1 Testes

x 2. Pituitary Gland
x 3. Adrenal Gland

x 4. Ovaries

Question ID : 5459276921

Q.14 In which month the Pongal festival is celebrated?
Ans X" 1 March

X 2. August
/X 3.May
« 4. January

Question ID : 5459276912

Q.15 Hindon is the tributary of which of the following river?
Ans X" 1 Ganga

x 2. Kaveri
x 3. Krishna
“ 4. Yamuna

Question ID : 5459276927

Q.16 For separation of different gases from air, which process is used?
Ans x 1. Vaporization

75 2. Distillation
« 3. Fractional Distillation

x 4. Condensation

Question ID : 5459276918

Q.17 Who among the following is a Sitar player?
Ans X" 1. Zakir Hussain

x 2. Daya Shankar
75 3. Anant Lal

“ 4. Smita Nagdev

Question ID : 5459276911

Q.18 India's only active volcano is found on a Barren Island which is located in




Ans « 1. Andaman and Nicobar Islands
x 2. Lakshadweep Islands
X 3. Malabar Coast

x 4. Himalayas

Question ID : 5459276925

Q.19 is the study of soils.
Ans X 1 Paleontology

( 2. Pedology
x 3. Ecology
x 4. Geology

Question ID : 5459276928

Q.20 Substances used to test the acidity and basicity of a solution are known as

Ans " 1 Bases

/X 2. salt
x 3. trainers
« 4. Indicator

Question ID : 5459276916

Section : General Awareness2

Q.1 was called ‘Indraprastha’ during the rule of Pandavas.

Ans  of 1 Delhi
x 2. Agra

x 3. Calcutta

x 4. Jaipur

Question ID : 5459276933

Q.2 Who wrote the book ‘Poverty and the Un-British Rule in India’?
Ans o 1. Dadabhai Naoroji

X 2. Gopal Krishna Gokhale
x 3. Bal Gangadhar Tilak
X 4. M.G. Ranade

Question ID : 5459276934

Q.3 advocated remarriage of widows in 19th century.

Ans X" 1 E.V. Ramaswamy Naicker
x 2. Jyotiba Phule
( 3. Ishwar Chandra Vidyasagar




x 4. Swami Vivekananda

Question ID : 5459276930

Q.4 Which river is also known as ‘Sorrow of Bihar'?
Ans X' 1 Gomati

x 2. Yamuna
75 3.Chambal

( 4. Kosi

Question ID : 5459276929

Q.5 Uniform Civil Code is mentioned in which Part of the Indian Constitution?
Ans "1 PartIv

o 2. Partill

/X 3.PartVv
X 4 Partll

Question ID : 5459276945

Q.6 Which country will launch the world's first man-made moon by 2020?
Ans ( 1. China

x 2. Japan
x 3. India

x 4. Afghanistan

Question ID : 5459276940

Q.7 Which novel has won the Man Booker International Prize 2019?

Ans x 1. The Vegetarian
x 2. Sea of Strangers
« 3. Celestial Bodies

x 4. Heartland

Question ID : 5459276939

Q.8 Which of the following was a Pallava ruler?
Ans x 1. Rajashekhara Verma

“ 2. Mahendravarman
x 3. Rajaraja |

x 4. Kumaragupta

Question ID : 5459276935

Q.9 Which is the third-highest civilian honor in India?
Ans X" 1. Padma Vibhushan

X 2. Dadasaheb Phalke Award




X 3. Arjuna Award

o 4. Padma Bhushan

Question ID : 5459276936

Q.10 was the eldest son of Babur.
Ans X" 1. Shah Jahan
( 2. Humayun

75 3. Akbar

x 4. Changez Khan

Question ID : 5459276932

Q.11 Who introduced ‘Objective Resolution’ in the Constituent Assembly?
Ans X" 1 Mahatma Gandhi

« 2. Jawaharlal Nehru
x 3. B.R Ambedkar

X 4. Rajendra Prasad

Question ID : 5459276942

Q.12 Hima Das is associated with which sport?
Ans ( 1. Athletics

x 2. Chess
x 3. Boxing

x 4. Swimming

Question ID : 5459276947

Q.13 Which male singer won the Filmfare Award 2019 for Best Playback Singer?
Ans x 1. Sonu Nigam

o 2. Avijit Singh
X 3. Abhay Jodhpurkar
x 4. Shankar Mahadevan

Question ID : 5459276937

Q.14 was the revenue administration and civil justice system in Bengal under the Mughals.

Ans X 1. Amir
x 2. Nizamat

o 3. Diwani
x 4. Mansab

Question ID : 5459276931

Q.15 Article 19 of the Indian Constitution includes which of the following right?

Ans x 1. Right to Constitutional Remedies




x 2. Right against exploitation
« 3. Right to freedom of speech and expression
x 4. Right to freedom of Religion

Question ID : 5459276944

Q.16 Chandrayaan-2 will be launched from which state by ISRO?
Ans X" 1 Maharashtra

x 2. Rajasthan

x 3. Kerala.

( 4. Andhra Pradesh

[ Question ID : 5459276941

Q.17 Article 17 of the Indian Constitution deals with which of the following?

Ans x 1. Protection of interests of minorities
« 2. Abolition of Untouchability
x 3. Continuance of rights of citizenship

X 4. Equality of opportunity in matters of public employment

Question ID : 5459276943

Q.18 Which actor has been honored with the Padma Shri 2019 in the art-acting-film category?
Ans x 1. Nawazuddin Siddiqui

x 2. Shakti Kapoor
“ 3. Manoj Bajpayee
x 4. Rajkummar Rao

Question ID : 5459276938

Q.19 In 2019, the International Olympic Committee (I0C) has formally opened its new
headquarters in

Ans X" 1 France
x 2. Singapore
x 3. Belgium

“ 4. Switzerland

Question ID : 5459276948

Q.20 2018 Men's Hockey World Cup was heldin _____.
Ans « 1. Japan

x 2. Australia

/X< 3.India

x 4. Germany

Question ID : 5459276946




Section : Arithmetic Ability1

IfA= Exi+£ and B = i+E+§x28 ,thenwhatis the value of B/A?
7 28 343 5 25 7 27

Ans X" 1.1301/661

75 2.1211/371
/X 3.1291/441
of 4.1281/441

Question ID : 5459276952

Q.2 The average age of 20 girls is 25 years. The average age of another 30 girls is K years. If

the average age of all 50 girls is 34 years, then what is the value of K?

Ans  of 1 40
X 2.35
/X 3.25
X 4.30

Question ID : 5459276960

Q.3 If P/Q=8/9 and Q — P = 12, then what is the value of P?

Ans X" 1 84
/X 2.108
< 3.112
o 4%

Question ID : 5459276968

Q.4 Whatis the value of (4+18x9+6 —12) /(18 x 15+ 6 +23 - 11)?

Ans X" 1.1/5
X 2.26/77
/X 3.23/66
o 413

Question ID : 5459276955

Q.5 If 7248X is divisible by 16, then what is the value of X?

Ans o 10
528
X 3.2
X 44

Question ID : 5459276950

Q.6 416X92Y is divisible by 88. What can be the value of (X +Y) / (Y — X)?

Ans  of 1 5/3




X 2.4/3
/X 3.7/6
X 4.10/3

Question ID : 5459276956

Q.7 If xand y are even numbers, then which of the following is correct?
Ans  off 1. x+yiseven

Xz.x+y+2isodd
X3.x+y+3iseven

X4.x+y+1iseven

Question ID : 5459276949

Q.8 By selling an article for Rs 156 more, Rajat earned a profit of 4 percent instead of a loss of 8

percent. What is the cost price of the article?
Ans X" 1 Rs 1196

/< 2.Rs 1352
o 3.Rs 1300

75 4.Rs 1400

Question ID : 5459276966

Q.9 The selling price of a product is 75 percent of the cost price. What is the loss percentage?

Ans X" 1.16.67 percent
x 2. 33.33 percent
x 3. 20 percent
( 4. 25 percent

Question ID : 5459276965

Q.10
What is the value of z+ﬂ+ ixLiJ,ixLE 9

T e T4 e 23

Ans X 1.75/13
75 2.100/31

o 3.100/21
75 4.50/11

Question ID : 5459276951

Q.11 P is 4 times of Q. Q is how much percent less than P?
Ans X" 1.25 percent

J 2.75 percent
x 3. 60 percent
x 4. 80 percent




l Question ID : 5459276962

Q.12 Lis 20 percent less than T but T is 30 percent more than R. J is 30 percent of W and W is 10
percent of T. J is what percentage of R?

Ans x 1. 6.1 percent
x 2. 8.4 percent
X 3. 4.3 percent

J 4. 3.9 percent

Question ID : 5459276964

Q.13 The marked price of a table is Rs 3500 and its selling price is Rs 2275. What is the
percentage discount?

Ans x 1. 45 percent
x 2. 55 percent
J 3. 35 percent
x 4. 65 percent

Question ID : 5459276959

Q.14 Whatis the valueof 9+9+18x27 +36+9x 18 +54 =9 x 18?
Ans  of 1 405/2

K 2.417/2
75 3.401/2
X 4.397/2

Question ID : 5459276958

Q.15 A trader incurs a loss of 50 percent after allowing a discount of 40 percent. If 20 percent
discount is given, then what will be the profit/loss percentage?

Ans ( 1. 33.33 percent, loss
x 2. 25 percent, loss
x 3. 25 percent, profit

x 4. 33.33 percent, profit

[ Question ID : 5459276961

Q.16 There are 3 types of rice. The amount of the rice are 703 kg, 851 kg and 333 kg
respectively. The rice are packed such that no two types of rice are mixed. If the size of
packet is largest and all packets have same size, then what is the number of packets?

Ans  of 1 51
75 2.37
X 3.39
X 4.43

Question ID : 5459276953

Q.17 J sells an article to K at a loss of 30 percent, K sells the same article to L at a profit of 40
percent. If L pays Rs 490, then what is the selling price of the article for J?




Ans X" 1 Rs 425
o 2. Rs 350
/X 3.Rs375
75 4.Rs 500

Question ID : 5459276967

Q18 ymat s the value of (0.5)" +(0.125) +(0.12)" +(0.02) +(0.18)" = (0.04) + (022)° +(0.02)} +(0.9)° £ (0.03)°?
Ans X 186121

/X 2.1011.42

of 393453
/X 4.918.47

Question ID : 5459276957

Q.19 Kwhen divided by 5, 6 and 3 leaves remainder 1 in each case. What can be the value of K?
Ans X" 12521 and 2601

75 2.1671 and 3151
o 3.1951 and 1561
7% 4.571 and 1451

Question ID : 5459276954

Q.20 The population of a town increases by 60 percent every year. If after 2 years from present
the population is 87040, then what is the present population?

Ans X" 136000

o 2. 34000
/< 3.38000
75 4.32000

Question ID : 5459276963

Section : Arithmetic Ability2

Q.1 Rs 7000 becomes Rs 10360 in 6 years at simple interest. What is the per annum rate of
interest?

Ans x 1. 10 percent
x 2.9 percent
X 3. 11 percent
“ 4. 8 percent

Question ID : 5459276971

Q.2 A copper sphere of diameter 24 cm is drawn into a wire of diameter 8 mm. What is the
length of the wire?

Ans X" 11600 cm




75 2.1240 cm
75 3.1400 cm

o 2 1440 cm

Question ID : 5459276981

Q.3 The line graph given below shows the number of bananas (in dozens) produced in different
states of a country.
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The production of bananas in S6 is how much percent more than S1?

Ans X" 1.312.62 percent
J 2.271.49 percent
X 3. 248.44 percent

x 4.208.12 percent

Question ID : 5459276988

Q.4 The pie chart given below shows the number of tigers in different zoos. The number of
tigers in a particular zoo are shown as a percentage of total number of tiger in all the zoos
together.

5,
15%
& 22"
28%

What is the difference in central angle of the sectors for Z1 and Z3?

Ans X" 1 18
K 2,72
/X 3.36°
of 450

Question ID : 5459276984

Q.5 A sum of money becomes Rs 32490 in 2 years when kept at compound interest
(compounding annually). If rate of interest is 14 percent per annum, then what is the sum of
money?




Ans X" 1. Rs 27000
75 2.Rs 28000
75 3.Rs 24000

o 4. Rs 25000

Question ID : 5459276972

Q.6 The length and breadth of a room is 16 metres and 12 metres respectively. If the total area of the four walls of the
room is 784 metres?, then what is the height of the room?

Ans x 1. 13 metre

J 2. 14 metre
X 3. 12 metre

X 4.16 metre

Question ID : 5459276980

Q.7 The bar graph given below shows the production of wheat (in tonnes) in different states.
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The production of wheat in S2 is how much less than the average production of wheat (in
tonnes) per state?

Ans X" 1.798.4 tonne
x 2.698.4 tonne
o 3.598.4 tonne

x 4.898.4 tonne

Question ID : 5459276987

Q.8 Raju and Shyam can complete a work in 20 days and 30 days respectively. They began the
work, but Raju left the work after some days and Shyam completed the remaining work in
10 days. After How many days from the beginning Raju left the work?

Ans  of 1 8days
x 2.10 days
/X 3.9days
x 4.7 days

Question ID : 5459276979

Q.9 Speed of a boat in upstream is 30 km/hr. If the speed of stream is 5 km/hr, then how much
distance will it cover in 2 hours in downstream?

Ans X" 1 70 km




/X 2.60km
o 3.80km
/X 4.82km

Question ID : 5459276974

Q.10 The height of a solid cone is 40 cm and the radius of its base is 30 cm. What is the cost of painting the total

surface area of the cone at the rate of Rs 7 per cm??

Ans X" 1. Rs 48,800
75 2.Rs 56,800
75 3.Rs 62,800
o 4. Rs 52,800

Question ID : 5459276982

Q.11 IfP:Q=3:4and Q:R=5:3, then what is the value of 4P : Q : 5R?
Ans x1.3:3:5
W 23:1:3
X 32:1:2
K 44:1:5

Question ID : 5459276969

Q.12 A train of length 600 meters passes another train of length 1000 meters in 96 seconds. If
the speed of both the trains is same, then what is the speed of each train?

Ans X" 121 km/hr
o 230 km/hr
/X 3.18 km/hr
75 4.24km/hr

Question ID : 5459276975

Q.13 The bar graph given below shows the number of bags of different companies in a shop.
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What is the total number of bags in the shop?
Ans X" 1232

X 2.223
/X 3.230
o 4221




Question ID : 5459276986

Q.14 The table given below shows the number of shirts of different companies in a shop.

Company | Number of shirts
Cl 27
c2 33
C3 26
C4 23
C5 43
CH 41

What is the ratio of number of shirts of company C1 to the total number of shirts of
company C2 and C3?

Ans X" 1.27:61

X 2.61:27
/X 3.59:27
of 4.27:59

Question ID : 5459276983

Q.15 The ratio of three numbers is 2 : 3 : 4. The sum of these numbers is 108. What is the largest
number?

Ans  of 1 48
/X 2.46
/X 3.56
K 442

Question ID : 5459276970

Q.16 Two taps T1 and T2 can fill a tank in 2 hours and 3 hours respectively. If an outlet tap T3 is
opened, then all three can together fill the tank in 6 hours. How much time will tap T3 take
to empty the completely filled tank?

Ans X" 1.3 hours
o 2.3/2hours
75 3.4hours
X 4.2 hours

Question ID : 5459276977

Q.17 The pie chart given below shows the number of female students in different subjects. The
number of female students in a particular subject are shown as a percentage of total
number of female students in all the subjects together.




If the total number of female students are 3600, then what is the difference in number of
female students in subjects S1 and S4?

Ans X" 1412
/X 2.400
of 3432
/X 4.456

Question ID : 5459276985

Q.18 Compound interest on a certain sum of money for 2 years at a rate of 'r' percent per annum
(compounding annually) is Rs. 8385. Simple interest on the same sum at the same rate for
2 years is Rs 7800. What is the value of r?

Ans  of 1 15 percent
X 2.12 percent
x 3. 18 percent

X 4. 16 percent

Question ID : 5459276973

Q.19 Vijay alone can do 3/4 of a job in 12 days. Ajay is twice as efficient as Vijay. How many days
will Ajay take to finish the same job alone?

Ans X" 112 days
/X 2.16 days
x 3. 6 days
o 4.8days

Question ID : 5459276978

Q.20 A boat covers 20 km upstream and 60 km downstream in 5 hours. Boat covers 30 km
upstream and 80 km downstream in 7 hours. What is the speed of boat in still water?

Ans o 1 15km/hr
/X 2.20 km/hr
75 3.14km/hr
/X 4.12 km/hr

Question ID : 5459276976

Section : General English1

Q.1 Improve the bracketed part of the sentence.

We will start (on) 5 O’ clock in the morning.

Ans X1 to

x 2. No Improvement
x 3. by
J 4. at

Question ID : 5459276998




Q.2 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

There is a (1) / great different between (2) / the two statements (3) /. No error (4)

Ans X" 11
22
X 3.3
X 4.4

Question ID : 5459276993

Q.3 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

His father arrived soon
Ans X" 1. before

x 2. early
J 3. after
x 4. ago

Question ID : 5459277006

Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He rules a vast empire.

Ans X" 1 on
75 2. upon
o 3.over
5 4 at

Question ID : 5459277005

Q.5 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

You improve your spellings.

Ans X" 1 had
x 2. have
/< 3. ought
of 4 must

Question ID : 5459276999

Q.6 Improve the bracketed part of the sentence.

One of (my teachers) has received an award.
Ans X" 1 teacher

X 2. my teacher
J 3. No Improvement

X 4. the teacher




[ Question ID : 5459276994

Q.7 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: to encourage the development of
Q: collage industries in the village

R: an exhibition was organized
S: by the district authorities

Ans X" 1 RQSP
/5 2.PQRS
o 3.rRsPQ
/5 4.QRPS

Question ID : 5459277007

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

His actions (1) / call for (2) an explanation (3) /. No error (4)

Ans X 1.3
K21
W34
K 42

Question ID : 5459276989

Q.9 Improve the bracketed part of the sentence.

(A power failure) are common nowadays.

Ans X" 1. No Improvement
J 2. Power failures
x 3. The power failure

x 4. Power failure

Question ID : 5459276996

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He is good for my purpose.
Ans &1 fully

J 2. enough
X 3. partly
X 4. any

Question ID : 5459277002

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

A herd of grapes (1) / is kept (2) / on the table (3) /. No error (4)

Ans X' 1.3




X 2.4
o 31
K 42

Question ID : 5459276992

Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

One _____ to be careful
Ans J 1. needs

x 2. need
75 3. might
x 4. can

Question ID : 5459277001

Q.13 Improve the bracketed part of the sentence.

In 1947, when the Declaration of Independence (signed), India became a new country.
Ans J 1. was signed

x 2. sign

x 3. No Improvement

x 4. that signed

Question ID : 5459276995

Q.14 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Hesat______ astool.
Ans X" 1 above

X 2.in
X&at
(4.0n

Question ID : 5459277004

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

She bring up (1) / the orphan (2) / as her own child (3) /. No error (4)

Ans X" 1.4
o 2.1
K 3.2
X 43

Question ID : 5459276990

Q.16 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.




Prices to come down soon.

Ans X" 1 shall
o 2. ought
/X 3. must
75 4. might

Question ID : 5459277000

Q.17 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

They discussed (1) / the matter (2) / farther (3) /. No error (4)

Ans x1_1
W23
< 3.4
X 4.2

Question ID : 5459276991

Q.18 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: the achievements of
Q: peace are far more
R: lasting and renowned
S: than those of war

Ans " 1 SRQP
/< 2.PRQS
o 3.PaRs
/< 4.QSRP

Question ID : 5459277008

Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

| my knee yesterday.

Ans  of 1 hurt
75 2. hurts
/X 3.amhurt
75 4. has hurt

Question ID : 5459277003

Q.20 Improve the bracketed part of the sentence.

His life is hanging (by) a thread.

Ans X1 at
XZTO

J 3. No Improvement

p R




Question ID : 5459276997

Section : General English2

Q.1 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: future is always shrouded in a thick veil of mystery.
Q: yet if we closely understand and analyze the present,

R: man cannot know what is going to happen in future.
S: we can form some ideas as to what the future is going to be.

Ans X' 1 QSRP
/X 2.RPQS
o 3.PRrRQS
/5 4.PQRS

Question ID : 5459277009

Q.2 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

The ball is in your court
Ans X" 1 Fearful

X 2. Confess to the act
J 3. The next action is from your side

x 4. A bad person

Question ID : 5459277018

Q.3 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X1 Leisur

X 2. Liesure
J 3. Leisure
X 4. Leissure

Question ID : 5459277016

Q.4 Choose the word that means the same as the given word.

Lavish
Ans X' 1 Scarce

J 2. Grand
x 3. Less
x 4. Scanty

Question ID : 5459277011

Q.5 Choose the word that can substitute the given sentence.

An annual calendar with positions of stars




Ans X" 1. Scheduler
o 2. Almanac
75 3. Diary
75 4. Planner

Question ID : 5459277021

Q.6 Choose the word that means the same as the given word.

Compliant
Ans X" 1. Stubborn

75 2. wild
J 3. Meek

x 4. Untamable

Question ID : 5459277013

Q.7 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans x 1. Greteful

J 2. Grateful
/X< 3. Gretful

x 4. Gratefull

Question ID : 5459277015

Q.8 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To add fuel to the fire
Ans X" 1.1n disorder

x 2. To be confuse
x 3. Pure water

J 4. To aggravate some matter

Question ID : 5459277019

Q.9 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans x 1. Heirarchy
J 2. Hierarchy
x 3. Hierarkey
x 4. Hiererchy

Question ID : 5459277017

Q.10 Choose the word that can substitute the given sentence.

Soldiers who fight on horse back
Ans x 1. Captain




75 2. Pilot
X 3. Major
o 4 cavalry

Question ID : 5459277022

Q.11 Choose the word that means the same as the given word.
Timid
Ans X 1. Intrepid
X 2. Brave
75 3.Bold
J 4. Coward

Question ID : 5459277012

Q.12 Choose the word that means the same as the given word.

Humble
Ans X" 1 Proud

x 2. Sweet
75 3.Bold
f 4. Modest

Question ID : 5459277010

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Bag and baggage
Ans X" 1. Very dear

X 2. Intimate friend
x 3. At one's command

( 4. With full luggage

Question ID : 5459277020

Q.14 Choose the word that can substitute the given sentence.

A poem of lamentation
Ans X" 1. Sonnet

x 2. Hymn
75 3.Epitaph
f 4. Elegy

Question ID : 5459277023

Q.15 Choose the word that is opposite in meaning to the given word.

Elegant
Ans f 1. Uncouth




x 2. Shimmery

x 3. Gorgeous
x 4. Awkward

Question ID : 5459277014

Comprehension:
Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in oil cost in 1973
and 1979 has since Waned. With the dramatic fall in oil prices in the late 1980, there is a
euphoric emotion the world over that power is no longer a difficulty. Dynamic policy institute
in the 1970 to include the development of energy command have been terminating in many
countries. In common, the approach is one of trade as natural. India is no omission. There is
no proof of approval at the rule level of the fact that for India the power future is probable to
be bleak, and that ensuring sufficient energy accessibility to maintain even an unassuming
rate of financial development will be the main test. Energy consumption is not an end in itself.
Its importance lies in the fact that it is an essential overhead for economic development.
Energy plays a dual role. It is an input towards the productive sectors of the economy, namely
agricultural and industry and the supporting infrastructure of transport. It is also a consumer
good, energy consumed in a household has a direct impact on the quality of life. It is not
surprising therefore those studies of energy consumption patterns across countries and over
periods of time clearly establish a correlation between per capita energy consumption and per
capita income. Even within a country, the affluent sections of society consume larger
amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well
recognized and do not need amplification. Per capita expenditure of power is low, about one-
fourth of the world standard and about one-twenty-fifth that of the USA and imitate the
gathering scarcity still ubiquitous in the country. Long established fuels like fuelwood, animal
dung, and crop remains account, even row for as much as 35 percent to 40 percent of the
total energy consumption in the country.

SubQuestion No : 16
Q.16 What does ‘energy consumption has a direct impact on the quality of life’ means?

Ans x 1. Quality of life can be improved by more energy consumption
x 2. No option is correct

f 3. Both quality of life can be improved by more energy consumption and poor people
have to consume less energy due to high cost involved

x 4. Poor people have to consume less energy due to high cost involved

Question ID : 5459277026

Comprehension:

Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in oil cost in 1973
and 1979 has since Waned. With the dramatic fall in oil prices in the late 1980, there is a
euphoric emotion the world over that power is no longer a difficulty. Dynamic policy institute
in the 1970 to include the development of energy command have been terminating in many
countries. In common, the approach is one of trade as natural. India is no omission. There is
no proof of approval at the rule level of the fact that for India the power future is probable to
be bleak, and that ensuring sufficient energy accessibility to maintain even an unassuming
rate of financial development will be the main test. Energy consumption is not an end in itself.
Its importance lies in the fact that it is an essential overhead for economic development.
Energy plays a dual role. It is an input towards the productive sectors of the economy, namely
agricultural and industry and the supporting infrastructure of transport. It is also a consumer
good, energy consumed in a household has a direct impact on the quality of life. It is not
surprising therefore those studies of energy consumption patterns across countries and over
periods of time clearly establish a correlation between per capita energy consumption and per
capita income. Even within a country, the affluent sections of society consume larger
amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well
recognized and do not need amplification. Per capita expenditure of power is low, about one-
fourth of the world standard and about one-twenty-fifth that of the USA and imitate the




gathering scarcity still ubiquitous in the country. Long established fuels like fuelwood, animal
dung, and crop remains account, even row for as much as 35 percent to 40 percent of the
total energy consumption in the country.

SubQuestion No : 17
Q.17 In which pair of aspects does energy play a dual role?

Ans x 1. Political, economic and social development
K 2. Agricultural and industrial production
"v 3. Agricultural, industrial production, transport and consumers goods

K 4. Industrial and household consumption

Question ID : 5459277029

Comprehension:
Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in oil cost in 1973
and 1979 has since Waned. With the dramatic fall in oil prices in the late 1980, there is a
euphoric emotion the world over that power is no longer a difficulty. Dynamic policy institute
in the 1970 to include the development of energy command have been terminating in many
countries. In common, the approach is one of trade as natural. India is no omission. There is
no proof of approval at the rule level of the fact that for India the power future is probable to
be bleak, and that ensuring sufficient energy accessibility to maintain even an unassuming
rate of financial development will be the main test. Energy consumption is not an end in itself.
Its importance lies in the fact that it is an essential overhead for economic development.
Energy plays a dual role. It is an input towards the productive sectors of the economy, namely
agricultural and industry and the supporting infrastructure of transport. It is also a consumer
good, energy consumed in a household has a direct impact on the quality of life. It is not
surprising therefore those studies of energy consumption patterns across countries and over
periods of time clearly establish a correlation between per capita energy consumption and per
capita income. Even within a country, the affluent sections of society consume larger
amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well
recognized and do not need amplification. Per capita expenditure of power is low, about one-
fourth of the world standard and about one-twenty-fifth that of the USA and imitate the
gathering scarcity still ubiquitous in the country. Long established fuels like fuelwood, animal
dung, and crop remains account, even row for as much as 35 percent to 40 percent of the
total energy consumption in the country.

SubQuestion No : 18
Q.18 Which of the following is opposite in meaning to affluent?

Ans X" 1. Loaded
75 2. Moneyed
o 3. Failing
75 4. Opulent

Question ID : 5459277025

Comprehension:
Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in oil cost in 1973
and 1979 has since Waned. With the dramatic fall in oil prices in the late 1980, there is a
euphoric emotion the world over that power is no longer a difficulty. Dynamic policy institute
in the 1970 to include the development of energy command have been terminating in many
countries. In common, the approach is one of trade as natural. India is no omission. There is
no proof of approval at the rule level of the fact that for India the power future is probable to
be bleak, and that ensuring sufficient energy accessibility to maintain even an unassuming
rate of financial development will be the main test. Energy consumption is not an end in itself.
Its importance lies in the fact that it is an essential overhead for economic development.
Energy plays a dual role. It is an input towards the productive sectors of the economy, namely
agricultural and industry and the supporting infrastructure of transport. It is also a consumer
good, energy consumed in a household has a direct impact on the quality of life. It is not
surprising therefore those studies of energy consumption patterns across countries and over




periods of time clearly establish a correlation between per capita energy consumption and per
capita income. Even within a country, the affluent sections of society consume larger
amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well
recognized and do not need amplification. Per capita expenditure of power is low, about one-
fourth of the world standard and about one-twenty-fifth that of the USA and imitate the
gathering scarcity still ubiquitous in the country. Long established fuels like fuelwood, animal
dung, and crop remains account, even row for as much as 35 percent to 40 percent of the
total energy consumption in the country.

SubQuestion No : 19
Q.19 The energy policy makers, should take due attention of the fact that:

Ans ( 1. Access to energy and availability, therefore are in proportion to financial status
x 2. India’s energy situation is sound and there will be no shortage in the next future
x 3. The energy requirement of the rich in India is does not differ from that of the poor

K 4. India’s energy requirement is far less than that of the Americans

Question ID : 5459277027

Comprehension:
Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in oil cost in 1973
and 1979 has since Waned. With the dramatic fall in oil prices in the late 1980, there is a
euphoric emotion the world over that power is no longer a difficulty. Dynamic policy institute
in the 1970 to include the development of energy command have been terminating in many
countries. In common, the approach is one of trade as natural. India is no omission. There is
no proof of approval at the rule level of the fact that for India the power future is probable to
be bleak, and that ensuring sufficient energy accessibility to maintain even an unassuming
rate of financial development will be the main test. Energy consumption is not an end in itself.
Its importance lies in the fact that it is an essential overhead for economic development.
Energy plays a dual role. It is an input towards the productive sectors of the economy, namely
agricultural and industry and the supporting infrastructure of transport. It is also a consumer
good, energy consumed in a household has a direct impact on the quality of life. It is not
surprising therefore those studies of energy consumption patterns across countries and over
periods of time clearly establish a correlation between per capita energy consumption and per
capita income. Even within a country, the affluent sections of society consume larger
amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well
recognized and do not need amplification. Per capita expenditure of power is low, about one-
fourth of the world standard and about one-twenty-fifth that of the USA and imitate the
gathering scarcity still ubiquitous in the country. Long established fuels like fuelwood, animal
dung, and crop remains account, even row for as much as 35 percent to 40 percent of the
total energy consumption in the country.

SubQuestion No : 20
Q.20 The author is of the view that the policy makers in India

Ans x 1. No option is correct
x 2. Are showing challenge of energy shortage probable challenge of energy shortage
( 3. Are duly aware of the probable energy crises in near future

/X 4.Bothaandb

Question ID : 5459277028
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Question ID : 5459277041
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Question ID : 5459277048
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Question ID : 5459277039
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Question ID : 5459277035
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Question ID : 5459277045
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Question ID : 5459277042
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Question ID : 5459277036
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Question ID : 5459277030
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Question ID : 5459277047
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Question ID : 5459277044
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Question ID : 5459277038

Q.12 fA=fafEa sl 7 @ ad+i i g @ =7 a1 2 g5 82
Ans X1 ardR
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Question ID : 5459277043
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Question ID : 5459277032

Q.14 f&Q 7T arer o1 Tt T4 hIfSITI
Herd & @I 8l
Ans o 1. srquf adE e
75 2. dren adEr et
/X 3. T ada et
75 4. e e et

Question ID : 5459277046

Q.15 fA=fafEa & @ foret 931 &1 wen= @ shgerar 82
Ans  of 1 Ty

75 2. gumeE
/X 3. T
75 4 guRmST

Question ID : 5459277037

Q.16 g7y 2reat & & 315 a1 a1 99 FHifSgl
Ans  of 1wy

X 2. v
/X 3. ughf
X 4 vy




Question ID : 5459277040

Q.17 fu 7Y arer & ¥@ifera v foha v o1 R fagtvor @ sma fifSigl
T} e IUER TGt
Ans X 1. xyaTeE
/X 2. uRmTUETS
/X 3. Afaree

o 4 s

Question ID : 5459277034

Q.18 fu 7Y 2rez o1 WY fAede HifSigl
ST
Ans J 1. 31 + Q0T
/X 2.3+ v
X 3. 317 + guyur
/X 4.3+ qwoy

Question ID : 5459277031

Q.19 3y 7y arery # ¥@ifera YT R Uk @FRek i fawuf=h @ wima fifSigl
Bd R deR ST &1
Ans X1 ey
X 2. @
o 3. siftawor
/X 4 g

Question ID : 5459277049

Q.20 Ry g arerr & IR T A1 IuTIT ek Red T Fi gfied Fifsgl

ot — oft & sty A eroer @l dod A1
Ans X 1 grTeroE

o 2. s
75 3. Rmm
/X 4. sETeE

Question ID : 5459277033

Section : General Hindi2

Q.1 Ry 7g gt & gai & ¥ Y uga= Al
@ aEE gl

Ans  of 1 wraEtE v
/X 2. argof uer




/X 3. Rraue
X 4. gofue

Question ID : 5459277052

Q.2
Ans

‘T A g g afFa g T A e arfrm Rg §?
X1.;,!

Question ID : 5459277064

Ans

Frafafae ver 4, Ry 7y ar el & 9, 39 faeea o1 9g+7 & w1t Ry 79 gerer & sref ot
qIY ®9 A <k T gl

31&R & He T g
25 1. el e oft dier 7 g
Jz.sm‘q;gﬁm
75 3. ade =it o G g

75 4. 95 - 45 1 TR AT

Question ID : 5459277059

Q4

Ans

g g a1 @ 3 w9 79 S
I erfiars ge dgE iR ot
25 1. 3R wreiaTS gen R oft
25 2. 3t wreeiarg iR off
of 3. < Fesiars v weT dRmie ot
75 4. 3 wedarg gen wer o

[

Question ID : 5459277055

Q.5

Ans

Fafafae v d, Ry 7y ar faseal & 9, 39 fasea o1 ag= &= w1t R 7g gerer & sref ot
I 9§ =<h HdT 8l

g d &
25 1. oifell § iR e
/X 2. sit@ IR e
o 3. Freft = T
/X 4. sitai o e

Question ID : 5459277061

Q.6

Ans

fafafae ver d, R 7g ar Rl & 9, 39 ferea o1 ag+1 &R w1t Ry 7g ggrer & sref ot
Iy ®9 q e HdT gl

Sa e gz a
£< 1. R ST geferet wter ST




75 2. e wrera A & I € B 21
25 3. f= 91l ot g AT

o 4. o e T g A 2

Question ID : 5459277058

Q.7 fFA=fafaa ver d, Ry 7g ar Rl & 9, 39 fasea o1 ag+1 &= w1t R 7g ggrer & oref ot

AN ©U § <h AT 8l
39 & mt AY, srueht i @
Ans X" 1. e AT
7< 2. s e & gep S & <
/X 3. g Al
W 2 F T AER

Question ID : 5459277057

Q.8 fRu 7y foarm Rig & 0 Y uga= AfSwl
()
Ans X" 1 gofferm
/X 2. usarasw

o 3. sreufRm
X 4 sgfrm

Question ID : 5459277063

Q.9 Ry g arer # gt & wu Hit ugaE Hifsg)
TUad: el J1G 3T Jehel 21
Ans  off 1 gomands
X 2. wegreta
/X 3. Rgnds
75 4. s

Question ID : 5459277050

Q.10 T 7Y arerm & forg &) Fterlf=h 1 wra= hifSqi
701 =4, Ramar sifdeR)
Ans X" 1. 37t oh ST et T B |
ZX 2. 3ty 7 9 T
o 3.2t e T A e
ZX 4. 3w @ |t SR Se

Question ID : 5459277060

Q.11 Ry 7g are # Raiferd v fhe vehR &1 g&w ¢ 31 FifSg)

Higd agd @ @I B




Ans X1 Hemm
X 2.3\
/X 3.wem
45

Question ID : 5459277053

Q.12 T 7Y arer & =4 A uga= KifSgl
frarer 3 et s 3t o) et W AT @1
Ans X 1. feris
X 297
X 3w
J4.ﬁ8{

Question ID : 5459277054

Q.13 U 7Y area & & fi uga= HifSgl
geft smarer A 32 @ &l
Ans X" 1 gemaren
/X 2. wraarn
/X 3. dare
o 4 i

Question ID : 5459277051

Q.14 PrmfREa & & s averr dges gy 22
Ans X" 1. gt offh 3BT 81
X 2. g wwen < 81
J&agé‘armuigﬁmzau‘n
/X 4. gaR o A Fiaera & awf g

Question ID : 5459277056

Q.15 T A 79 2reg] & ofta fon form g @1 vt o stram 82
Ans  of 1 i

75 2. fEe
75 3.@ma

X 4 wEH

Question ID : 5459277062

Comprehension:

Tep TTeniT T T 1 Terier & SR WR Ut us iy TQ §1 Terier s eargd ué JUT U U § aR
et 7 © Tg! faened g1

gRER uflig dtef-2m &1 77T & Rt 59T Agd &1 I8 Ui ofiR UfagTRies R &1 g8l oR g &Y et
TR 7T &Rl T e T HEed & | QT 71T SITdT & o6 a8t T ahent § aafohal ot aral @ gfh e st &1




&R Y Ui} W et ofts et 1 g & - @ arst agt T & &k ek ofR T e o1 € ok
HAd AT &1 UTd: 4:00 I g1 AT 797 T &=t Ugd ST & | 7 et 7 HATeny ‘T 847 & 51’ el I
R &1 T g Y TSt IR 5 wfeR) & Sird &1 fhR WR o9 I1STR & Siien) U1, HTeT o1l @ied &1 2
2t I T SR AT e §RT SRR 7 fch WTa & SiduTd g STTaT 81 TR 3 TH & 71T fReiR @
gt e &1 IR 31 2w ofR et it srrarsit & s i Y Fgfar Y STt @1 s fth @l geh IR &
TSt TR TR T T 377 T A1 3R AT ht SRt & *MfAet g1 =iyl

SubQuestion No : 16
Q.16 Aufeh ¥Ta @ ftauie gt ST k1 T 31 @2

Ans X' 1 9¢ WRaR @M
X 2. R A AfRs @ g
¥ R SR LR
X 4 wfn A A

Question ID : 5459277069

Comprehension:

Qe Terier & T € 1 TR o STUR WR Ui U e 7Y 81 TR i eaYEa U U ek U H IR
et § @ T faeed g1

gRER Uflig dtef-Tm &1 77T & ShRUT 59T A &1 T Ui 3fiR UfaeTes R &1 a8l iR &< &l diet
TR 7T ST T e T A & | BT AT ST ¢ fob a8t T4 e § aafhal sl ural & gk e STt 81
& H IS W a1 e w81 g & iRt & At agt 1 3 & e SR T ahe o 8 8
HAd AT &1 UTd: 4:00 I g1 ST 707 T et Ugd ST & | 77 eht 7 HIens ‘T 87 Y 51T’ o 3G
TR &1 T g Y TSt IR 99 Hi & 1 &1 fF AR R 59 IIeIR H SRR URATE, HTAT S116T Wiied & 1 *mH
Y T T STReH ST e GRY SR A ch WTa & STAUTd 8 STl &1 TRl & GHG A 7T fheR e
B STa &1 IRI R o iR dfeat &t srmarsil & &t 7 &t T Y St 81 Udieh 2tk o ek IR R el
It OR STTeRR 11T T 3197 ohAT A1RT SfR T ht STRaT & A g7 @iyl

SubQuestion No : 17
Q.17 Iu=H i o 2ftefen T &2

Ans X" 1. dfief - T e gR
W 2. & aRer
X 3 wRE WG - Ref e
K 4@ - wE T ae

Question ID : 5459277068

Comprehension:

Tep TeIier feam T & 1 iR o SR WR ufg U ey 7Y 1 eI St eaTgde U T ek UM H IR
faereat & & @@l faehed g1

gRER uflig ftef-2m &1 7T & SRt 34T HEd &1 I8 Ui ofiR UfagTiics R 1 gl R g <hY utet
TR 7T SRl T e T HEgd ¢ | T 71T SI1T & TS a8t T et § afhal ot aral 9 gfh e STt 81
&R T R T offs Bl &1 SR & SR & Al g8t 1 & g2 AR 3R I aa oa & ok
HAd T &1 UTd: 4:00 SISt & ART 791 T 33 Ugd ST 8 | 7177 @l A7 AFehe T 31 Rl S <l I
R &1 T B Y TSt R o9 HiR & S &1 fF R R s ITSTR H STTeh? U, 1T 31T Wiied &1 *mH
T T T SR} T e §T Agens A <k T § SHIAUTT &Y ST &1 TRt & 7 &7 7 fohR @
g Sira &1 IR SR i SR sfeat &t simarsit & a7 Y gy Y St @1 udes afth bt g IR g1
TSt TR ST 1T 1 317 T A1 3R AT ht SRt & *mfAet i =iyl

SubQuestion No : 18
Q.18 7T & EH A Tl bt T At 82

Ans X 1 ARy
X 2 g a R
X 3.
W 4. i & 5




Question ID : 5459277067

Q.19

Ans

Comprehension:

Qe Terier f&am T €1 TR o SR WR Ui U9 ey 7Y 1 eI i eaYEeh U U ek UM H IR
fAreneat & @ T faheT g1

gRER Uflig dtef-Term &1 7171 & ShRUT 39T A g1 T8 Ui 3fiR Ufaeres R &1 78t ur &< <l diet
TR TTT ST T e T A & | THT AT ST ¢ fob a8t T4 et § aaf<hal ol urdl & gk et STt 81
&R Y i R ey ofte W &1 g & - & art ggi 1 & g3 e R T e 3 & 8iR
HAd AT &1 UTd: 4:00 It g1 & T T B Ugd ST & | T et 7 AR ‘T 847 Y 51T’ T I
R § 1 T 8= I TSt IR 9 /et & ST § 1 fhAR R a9 IeiR & SiTens UTe, HIelT 316! @ted & | «mH
T TIT ST SR T T T Sehs A Hch T § ST 81 ST 8| STRet & 7 &1 71 IR @
g Sira &1 IRT SR i ik feat &t srmarsil & &t T Y Ty Y St @1 Udies afth bt ek IR g1
TSt TR SRR 7T 1 31T AT A1 3R AT ht SRt & *mfAet g =iyl

SubQuestion No : 19
Udeh afvh el Teh IR STReR T SheAT A1gyq?

25 1. 7 R et g iRy
W 2. T SR 1 i e iR
25 3. SToR @ Are @deh TRy
X 4. ot & e @ AR

Question ID : 5459277070

Q.20

Ans

Comprehension:

Tep TeIieT foam T &1 eriRr & SR UR uta U iy 7T &1 eI Y eaYdes U 9T ek UM H IR
faereat & § Tel faehed g1

gRER uflig ftef-2m @1 7T & SRt 59T HEd &1 I8 Ui 3R UfagTRies R &1 agf uR g Y et
TR 7T Rl T e T HEd & | QT J1T SITT & o a8t T et § aaf<hal ot aral 9 gfh e STt 81
&R Y Ui W e ofts et 1 g 3 i @ arst agt T o &k ek 3R T e o1 § o
HAd AT &1 T 4:00 I g1 AT 707 T he=t Ugd ST & | 7 et 77 HIehy ‘T 84T & ST’ e I
R &1 T g Y TSt IR o dfeR) & Sird &1 fhR WR o9 STSTR & Siien) U1, HTeT STl @ied g1 2
Rt I T SR T e G4 S@ehe 7 fch WTG & Siiduid g ST1aT 81 SRl 3 GHa & 7T fReiR @
B SITd 81 TRT SR i@ SfR °fea i Srmarsil o st 7 i Tgfcl i STelt &1 Udeh A<k eh ek IR 82 el
TSt TR ST T T 3TaRY eheT ARy 3R AT aht SRt & *mfAet g1 =iyl

SubQuestion No : 20
uflg ff Ty R ar @?

X 1w
X 2. R
75 3. et

W 2 8Rer

Question ID : 5459277066






